I 1. ROKXEREIMH LIRS0,

(1) 5z — 20

(3) 2azx? — 12ax + 18a

(5) abxr?® — 3abx — 18ab

I 2. ROXEREIMH LS,

(1) (a+2)x + (a + 2)

(3) a(z +y) = bz +y)

(5) (x —2)?> —5(x —2) — 24

(7) (a+b)*+6(a+b)+9

9) (z—y)* -9

IR 3. ROXEZREDMH LR SV,

(1) 3zx(y—1)—1+y

(3) zy +2x+2y+4

[+

(2) 9ax?® — 25a
(4) bx? + 10bx + 25b

(6) 3z% + 15z + 18

(2) a(z —y) = 2(z —y)
(4) a(z — 1) + b(z — 1)
(6) (z+y)?+ 9z +y)+ 14
(8) (x—1)2 —10(z — 1) + 25

(10) a®> — (b+¢)?

(2) (a—b)z—b+a

(4) ab—2a+3b— 6



BE 1 RO RESHE LIRS,

(1) 322 — 48

(3) 3az? + 24ax + 48a

(5) abz? — Tabx + 12ab

B 2. ROXZRESHE LIRS,

(1) (b—3)x— (b 3)

(3) z(a —b) +yla—0b)

(5) (z+1)2+9(z+1)+18

(7) (x—9)* —2(z —y) +1

M 3. RO Z KB LIRS0,

(1) 5a(b—2) —2+b

(3) ab—3a—3b+9

“~

R

~

(2) 4bx? — 49b

(4) 522 — 60z + 180

(6) ax® + bax — 14a

(2) a(z+y) + 3(x+y)

(4) (z+a)b = (z +a)y

(6) (z—y)* +2(x—y) -8

(8) (a+3)*+4(a+3)+4

(10) (a +b)* — 16

(2) (z—yla-y+z

(4) zy + 4o — 3y — 12



fipes

[ 1.
(1) 5(xz+2)(x—2) (2)aBz+5)Bx—-5) (3)2a(x—3)2 (4)b(x+5)?
(5) ab(z +3)(x —6)  (6) 3(x+2)(x + 3)

[l 2.

(D (a+2)(z+1) (2)(a=2)(z—y) @) (a=b)z+y) @) (a+b)(z—1)
(5) (x+1)(x—10) 6) (x+y+2)(z+y+7) (7)(a+b+3)%2 (8) (z—6)2
9) (z—y+3)(z—y—3) (10) (a+b+c)la—b—c)

[ 3.
1) Bz+Dy-1) () @=bz+1) @) (=+2)(y+2) @) (a+3)(b-2)

1.
(1) 3(x+4)(x—4) 2)b2r+7)2z—7) (3)3a(z+4)? (4) 5(z —6)>
(5) ab(x —3)(x —4) (6) a(x —2)(x+7)

T 2.

(D O=3)x-1) (2)(a+3)(z+y) @) (a=b(z+y) @) (a+z)(b—y)
(B) (z+4)(z+7) (6) (r—y+4)(z—-y—2) (1) (x—-y+1)*> (8 (a+5)?
9) (z+y—2)(zx—y+2) (10) (a+b+4)(a+b—4)

e 3.
(1) Ga+1)(b-2) (2) (a+D(z-y) @) (a=3)0b-3) (4 (z-3)(y+4)



